1Y 7 VT Y FEERERR

(Bfz @ @)
FE| SNRTEE | F2&E =
X5 (a) (b) 107 115 125 18 28 38 (b)-(a)
THEE 4,426 4,620  2,655] 1,965 0 0 194
65 LU E 3,231 3238 1816] 1,422 7
65 E (ER) 1,119 1,308 799 509 189
60~64%% 1 | 6| 0 _ _ 1
# | e 68 34 34| ) 1
{FEEE 6,208]  2,668] 3,540 6,208
%6 AL E13%ES 1,855 726 1,129 1,855
1EE |__—1 1109 621 488 B 1,109
2EE | — 746 105 641 746
13mBLEesmES | — | 1383 1,942 2,411 1,353
&t 4,426 10828] 5323 5,505 0 0 6,402
DHTEE | D2EE
EHEE
XRE (A) 8,668 8,715 EREREAR EH - 5%
EEE (A) 4,426 4,620 A IEE 2,119A HRE 25 164X
EER (%) 51.1 53.0 ME  |EEE 1,109A BEE 10,082
TREE 13mkis |[EER 52.3% mER 40.1%
T5RE ANy | — 16,449 Lagu p HEE | 14,3304
EEE N [ __— 5,462 ——C 4,353 A
EEx (%) 33.2 BER 30.4%

XimbMAULI3ERBIR 1IEMBOAAT b
XEH - ER b, MAEEEIIEXT

Xim6 M AULEIBERBIEIEBEOAA T b




